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7. 1   DEVICE  

 (1) å�æ
      EGFIH�JK=UÜ!*

 (2) ú�û�ü�=ýñ�þ
      CALL DEVICE(C,N1,N2,N3,N4)

      C           : [CHARACTER] DUMMY

      N1,N2,N3,N4 : [INTEGER*4] DUMMY

7. 2   FACTOR  

 (1) å�æ
      L8ñ!õ�ö�ð�MON)0)P6QJçSR�T�U�VXWZY ç'Û!�[T[\ (GPSL ]!^ )

 (2) ú�û�ü�=ýñ�þ
      CALL FACTOR(FCTR)

      FCTR : [REAL*4] L8ñ!õ�ö�ð�M�N!0)P6QJç_R[T`U6VXWZY

 (3) ��ð��
    a  b�ð&c�dZegf�hji8ç6<4f&ek=<Ü�l�mon&0 FCTR=1.0 p)q[r1�6*o\
    a  ��f6s�tXu�v&w�b1qyx (CALL PLOT(0.0,0.0,5),VSINI) z
      FCTR=1.0 pgF�{&\

7. 3   GPSLTM  

 (1) |6}
      ~��1�X���9e4�[�gv_���[T[\ (GPSL ]!^ )

 (2) ú�û�ü�=ýñ�þ
      CALL GPSLTM

 (3) ��ð��
    a  CALL PLOT(0.0,0.0,999) z��!�[�O��\
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7. 4   LINSEL  

 (1) |6}
      �����!��vS����Tg\ (GPSL ]�^ )

 (2) ú�û�ü�=���þ
      CALL LINSEL(NP)

      NP: [INTEGER*4] ����vS�!�
       ( 1: H��  2: �6�  3: �!#:���  4: �4#)���  5: #:� )

7. 5   NEWPEN  

 (1) |6}
      ��i&���!�yvSJXqyx (GPSL ]�^ )

 (2) ú�û�ü�=���þ
      CALL NEWPEN(NP)

      NP: [INTEGER*4] 1 � 255 v��!��Tg\

 (3) �����
    a  �ji`������a��aø�a �¢¡Z£�¤¢�X����e4¥O¦ 99 � PENX p�]A§��&����Tg\
      ¨)�!���`��i&¡  10107 ( H!�©a«ª��©a«¬ ) p:qo\

7. 6   RWIND  

 (1) |6}
      ­!®!¯�°!±6.�²:³>vS�!�[T[\ (GPSL ]!^ )

 (2) ´Oµ�¶�=���þ
      CALL RWIND(NX1,NY1,NX2,NY2)

      (NX1,NY1) : [INTEGER*4] H!¯�°�D�·:¸���±6.!²)³
      (NX2,NY2) : [INTEGER*4] H!¯�°�¹!º�¸���±6.!²)³

 (3) �����
    a  VSINI p�»)r1�y~��1�X���9e9¼6½�������Tg\S¾6¿[-��O\
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7. 7   VSINI  

 (1) |6}
      À!Á�ÂO%`±6.�²:³>vS�!�[T[\ (GPSL ]!^ )

 (2) ´Oµ�¶�=���þ
      CALL VSINI(X0,Y0,X1,Y1)

      (X0,Y0) : [REAL*4] À!Á�ÂO%�D�·:¸���±6.!²)³
      (X1,Y1) : [REAL*4] À!Á�ÂO%�¹!º�¸���±6.!²)³

 (3) �����
    a  VSINI v1´Oµ�¶4T�Ã�p RWIND vSH!J[T[\�¾6¿�-O��\
    a  ÄÆÅyÇ1��´Oµ�¶�=S�
        SX=(NX2-NX1)/(X1-X0)/80.0 (X ÈOÉ�Ê6��Ë�Ì )

        SY=(NY2-NY1)/(Y1-Y0)/80.0 (Y ÈOÉ�Ê6��Ë�Ì )

        TX=NX1/80.0-X0            (X ÈOÉ�Ê���Í�Î!Ï!Ð )

        TY=NY1/80.0-Y0            (Y ÈOÉ�Ê���Í�Î!Ï!Ð )

      vS�!�A=I0K~��1�X���9e4¼�½�������vSJ¢q�x
       (NX1,NY1,NX2,NY2 ¡ RWIND vSÑ6Ò )

    a  ÓIÅyÇ�C�Ô���´Oµ�¶�=���¡&0��[f6s�t¢uovSJXq[r9Õ�8
      X,Y ÈoÉ�Ê6��Ë!Ì©aÖÍ�Î�Ï)Ðyv_×6Ø�T[\

7. 8   VSTERM  

 (1) |6}
      EGFIH�JK=�q!*

 (2) ´Oµ�¶�=���Ù
      CALL VSTERM(N1,N2)

      N1,N2 : [INTEGER*4] DUMMY
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